Solving Equations by Factoring

Subject: Algebra – Math A

Benchmark: Colosseum, Rome

Standards: 3B, 3E, 5

TOPIC: Solving Equations by Factoring

MAJOR IDEA: 

o Review:  (i) Factoring trinomial expressions of the form ax2 +bx +c,  



   (ii) Factoring difference of two squares (a2-b2) = (a-b)(a+b).

o To solve a quadratic equation means to find the value or values that makes the equation true.

o To solve a quadratic equation by factoring

(i) Use the addition or subtraction property to make one side of the equation equal to 0.

(ii) Factor the side of the equation not equal to 0.

(iii) Use the zero-factor property to solve t he equation.

(iv) Check your solution by substituting into original equation.

SUGGESTED AIMS:
o How do you solve a quadratic equation by factoring?

o Can you check your solution by substituting the solutions into the original equation?

VISUAL EXAMPLES:

· Picture of Colosseum, Rome 

SUGGESTED ACTIVITIES:
o Factor the following: 9x2 –16

o The area of each of the rectangular windows on the Colosseum has an area equal to 2x2 +11x +5. What are the dimensions of the windows?

o If the area of each window is equal to 11 square meters, what are the actual dimensions of the windows?

o Originally, the Romans wanted to make their windows have an area equal to 3x2+11x-4 = 20 square meters. What would the actual dimensions have been?

RESOURCES:

o Information about Colosseum - http://www.eliki.com/ancient/civilizations/roman/content.htm
HOMEWORK:

o Explain why solving (x-4)(x-7) =6 by setting each factor equal to 6 is not correct

o Determine the integer solution to (x-4)(x-7) = 18.

o Solve   (x-3)(x-3) = 16, using (I) sum of two difference squares and (ii) expand (x-3)2  and then write the equation in standard form and then solve it.

o Solve   (x-3)(x-3) = 16, using (I) sum of two difference squares and (ii) expand (x-3)2  and then write the equation in standard form and then solve it.
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